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Question ¥ (8§ points)

’lmh icromees was used 1o measure the dimensjons for an external o
il thread: the readings arc

g s The reading over the thread 9.6270 mu
The reading over the cylinder = 97146 mrr:
The reading over the thread ( With Wires) = 10,9716,
Tﬁﬂm“g aver the cviinder (with wires) = i nm.
The reading 0VeT the thread (with prisms) = 1] 9306 “ml
mmldlﬂ! over the cylinder { wath prisms) 15.5414 !1:::

t the diam ) :
And j‘ﬂ‘l:m' thir @) = 3';,';1 ;i:i‘t:;l: standard cylinder is equal to 15,0000 mm (he flank
anglé of thread + IN€ diameter of the wire (d ) = 2.0207 mm , and the itch size

of the thread (7) = 3.5 mm

The effiective diameter equation is
Dy -T+‘:"‘“E — (cosec @ — 1)« d
here T is the dimension under the wires

Calculate the major diameter, the minor diameter. and the effective diameter of the thread.

(Show your calculations)
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Question 4: (4 points)

L flé
What is the minimum number of blocks that wil| he used \ { \

18,7775 mm. Show your calculations. Produce an overall dimension of
--f ;
Note : remember 10 include the wearing blocks

Pieces =
One piece 1.000s = ———— | Increment
9 pieces 1.001-1.009
29 pieces 1.01-1.49 | 0.00]
19 pieces g8 — ——— 1001
9 pieces sy ——— 105
3 pieces (wearing block) | 2 mm each one 10
'\1'\’1";‘__. 1 Lk
';Z';/', G
= _

-
s - _.

* B = : 5
a, Dﬁﬂ,ibe Abbes principle, and provide an example for a device that follows Abbes’
principle. (3 points)

\

B. Compare between line standard and end standard devices. ( 2 points)

MiCro seter s we &

" C. Describe the working principle of the clinometer. (3 points)
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